. VCE & PDF https://www.pass4itsure.com/4a0-m05.html
g 2024 Latest passditsure 4A0-M05 PDF and VCE dumps Download

PassditSure.com

AA0-MQ5I8AS

Nokia Cloud Packet Core

Pass Nokia 4A0-M05 Exam with 100% Guarantee

Free Download Real Questions & Answers PDF and VCE file from:

https://lwww.pass4itsure.com/4a0-m05.html

100% Passing Guarantee
100% Money Back Assurance

Following Questions and Answers are all new published by Nokia
Official Exam Center

After Purchase

Guarantee

Free Update SKTISFACTION GUARANTEEp
Satisfied Customers

Q00O

4A0-M05 PDF Dumps | 4A0-MO05 Study Guide | 4A0-M05 Braindumps 1/3


https://www.pass4itsure.com/4a0-m05.html
https://www.pass4itsure.com/4a0-m05.html
https://www.pass4itsure.com/4a0-m05.html

VCE & PDF https://lwww.pass4itsure.com/4a0-m05.html
a 2024 Latest passditsure 4A0-M05 PDF and VCE dumps Download
== / PassditSure.com

QUESTION 1

Which of the following statements about networks used by CMG is FALSE?

A. A management network used for CMG management

B. Data switch fabric is used to carry signaling messages between LB-VMs and OAM-VMs
C. Control switch fabric is used to carry inter-VM control messaging

D. External networks are used to carry both control plane and user plane traffic

Correct Answer: A

QUESTION 2

Which of the following statements describing the instantiation of a VM in OpenStack is CORRECT?
A. Instantiation of a VM is always initiated through the Horizon GUI.

B. The Neutron L3 agent uses libvirt on the hypervisor to instantiate and tear down VMs.

C. A Radius server is used to verify whether a user has the required privileges to instantiate a VM.
D. The Nova scheduler selects the host on which the VM is to be instantiated.

Correct Answer: B

QUESTION 3

Which of the following statements regarding CMM external networks is FALSE?
A. External networks terminating on IPDS carry LTE signaling traffic.

B. External networks terminating on IPPS carry 3G user plane traffic.

C. External networks terminating on PAPS carry 3G signaling traffic.

D. External networks terminating on PAPS carry 2G user plane traffic.

Correct Answer: D

QUESTION 4
Which of the following network elements is implemented by the Nokia CPC?
A. Policy and charging rules function (PCRF)

B. Equipment Identity Registration (EIR)
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C. Application Function (AF)
D. eNodeB

Correct Answer: A

QUESTION 5

Which of the following Nokia products is responsible for the configuration, fault, and performance management of
CMM?

A. Network services platform (NSP)

B. CloudBand application manager (CBAM)
C. CloudBand network director (CBND)

D. NetAct

Correct Answer: A
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